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SAN: Molx=Z AIE A
HE: AT (BADS/MGAE - 2F)
el BT YAMAT OEN DI (METSEIH) (=EREE))
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
OXNEZH SNH LA REH|
1,500,000& = 1CH 1,500
202 (4 Hi 7,379 11,068 A3,689
01 2| 6,084 11,068 N4,984
OMNLT AR A (L) 259,000& x5 *33| 3,885
OA ST H=ZEHAILR) 45,800& x2H x243| 2,199
05 B2F&F WE0HH| 1,295 0 1,295
OAM+TAHR SAA AENE Ol 1,295
Oax=THR SAA AENE |
259,000& x5H *13] 1,295
206 i =t 2,510,400 2,712,000 A 201,600
01 &4l 2,510,400 2,712,000 A201,600
OS2+l 523,000E 4002 x12& 2,510,400
308 KX SIS0l A 596,400 540,000 56,400
08 JIEIRE 2 596,400 540,000 56,400
o082 49,700,000& x12& 596,400
403 XXM S K201 A 2,071,629 1,869,595 202,034
02 Z2I| 2S00 CHSHOH &AL HI 2,071,629 1,869,595 202,034
ONYHLE2Y 242 X3
3,051,000 *679& 2,071,629
CEHUMNR=SHOAMS 10,000 68,860 A\ 58,860
401 AlEHIZL 204 10,000 68,860 N58,860
01 Al&H| 10,000 68,860 A 58,860
O&4I|& X 10,000
olgl gl 82,883 179,459 N96,576
801 oilHl bl 82,883 179,459 N96,576
01 ol bl 82,883 179,459 N96,576
Ooldldl 82,883
SHNHSAAHI(DJIEHDIE}) 65,805 58,834 6,971
Ol AH| (Mol AIE A ) (A= EESIAH) 65,805 58,834 6,971
MNeEE R O1AHH| 65,805 58,834 6,971
101 2121 4| 65,805 58,834 6,971
03 RIHAUZZXNE 65,805 58,834 6,971
(OPIE=E= 44,1403 x2H *313.4Y 27,667
(O E= 32,467,000 *4/12& 10,823
262 27,667,000& *30% 8,301
(@IME=—1= N 200,000& x2H =12 4,800
(OPIETN=] 80,000& x2H x12& 1,920
OYESFIH| 32,467,000 %1.2/12& 3,247
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